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4 NZE (TFF) (3%) 3| /Yy 121.05 | 1 1] 1 1|1 @1 2 121.05 |12
ALiE = (T17) 3| /Yy 17.49 | 1 1] 1 1|1 @1 2 17.49 (12
T 7% 28 3| By 11.63 | 1 1] 1 1] 1@ 1] 1 0.00 |12
F—2A AT — g 1| e 82. 32 1/1 1 82.32 |12
A A 1| e 15. 23 1/1 0.00 |12
U % 1| e 15.23 | 1 2 15. 23 EHNTFERIC X Y FE
ST GBE H - k) 6 | Hir 19.33 | 1 /1] 1 1/1(1/1] & |1/1 2 19.33 |11 1
15 6| Y 7.88 | 1 /1] 1 1/1(1/1| % |1/1 1 7.88 |11 1
Wk EL 5 T 6 | HE 2.66 | 1 1] 1 1/1|1/1| & |1/1 2 2.66 |11 1
IR - FRRIRE 6 |ZAn| 24.66 | 1 1] 1 1] 1 1 0.00 |12
b 1| |y 11.79 | 1 2 11.79 EWNIFERIC XV FEhi
= EY 1| By 2.40 | 1 1/1 1 2.40 |17 1
JEE T 4| e | 242.25 | 1 2 242.25 |17 1
B Y 1| e 5.92 | 1 2 5.92 (17 1
G i3h 28 6 | e 4.97 | 1 1] 1]1 1 2 4.97 |17 1
@ | T 4 | e 65.05 | 1 2 65. 05 1
EVA— /L 4| Hye 37.12 | 1 1/1]1/1 2 37.12 1
REE T — ) — 4 | e 9.52 | 1 1/11/1 2 9.52 1
P B 28 5 | e 36.12 [1/1 0.00 |11 1
IV T 4 | e 14.65 | 1 1 14. 65 1
e 3F | 3G [#AnT= 4 | e 32.38 | 1 0.00 [12
CCUZE (14%) 3| e | 295.41 | 1 1] 1 2 295.41 |12
[FIE=! 3| iy 7.86 | 1 2 7.86 |12
BTy L AE2 1| Ee 18.58 1 0.00 |12
AB T AT — 3 1| e | 270.82 | 1 1/1 1 270.82 |12
Febt = —J)— 1| /e 16.81 | 1 1 2 16.81 |12
BE-Hia—)— 3| e 7.38 | 1 111 1 2 7.38 |12
15 ALER =R 6 | e 11.40 | 1 1/1 1 1 11.40 |12
WC1-2 6| Hr 4.32 | 1 1/1 1/101/1| # |1/1 2 4.32 |12
el 3F | 3G [Z BN 6 | e 5.10 | 1 1/1 1/1(1/1| & |1/1 2 5.10 |12
HEH 2 | By 8.56 | 1 1|1 0.00 |12
ME=E 2 | e 27.95 | 1 1|1 1| i 0.00 |12
it A< == - SU 6 | &1L 3.72 | 1 1] 1 1] 2 3.72 |12
AH > 7WCL-2 6 | e 4.20 | 1 1 1|1 | @] 1 1 4.20 |12
MEEL-2 1| Ee 15.26 | 1 1] 1 1| i 1 15. 26 EWNLIERIC & 0 i, BB 0
Ve 6 | #A 6.99 | 1 1] 1 1| 1 2 6.99 [12
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rﬁy{ﬁ:@ﬁfi%ig{i ;} ﬁ%f;#?%%ﬂi%%rﬁ&
= P NN = | i 7~ | Dlo|o
B\ R | = # o | ME | i %/\"%”é&ﬁﬁ%éﬁ@%ﬁ m ‘%Z}%i%[ﬁ%%ﬁ?ggﬁ
Vo E e | H & s (B R % Q%ﬁfg[ﬁ%‘%%%ﬁﬁéﬁm
| 5 | 1 | X = e (B2 e B R 5
E il & I T — - | - &
MG Y R = 1| #Bre 19.84 | 1 1] 1 0.00 [12
BTy L AE] 1| e 61.97 | 1 1 0.00 |12
FAAER1-2 1| e 31.68 | 1 1] 1 0.00 |12
2 NZE () 3| /Yy 129.53 | 1 1] 1 1| i 2 129.53 |12
I ZEPIWC (5 4 FT) 6 | e 10.25 | 1 1 1/1 T (1/1 2 10.25 |12
SR e 3| e 27.33 | 1 1 1| 2 27.33
JiE F2-3 4| e | 133.95 | 1 1] 1 2 133.95 |17 1
£V S 1 4| By 10.26 | 1 1] 1 0.00 |17 1
Il |SFR IR E1~3 1| By 18.68 | 1 1] 1 1| 1 18. 68 THNTFERIC L 0 e, S EERE A Y
WC- % HWC1 6| Y 7.76 | 1 1/1 1/1(1/1| # |1/1 2 7.76 | 8 1
E A EREEY 1 5 15. 54 111 1| & 0. 00 EWNTHERIC X Ehi
FRT7 VT 4| e | 155.59 | 1 1] 1 1| i 2 155. 59 1
N R — 4| By 16.74 | 1 1] 1 0.00 |17 EMIFFERIZ LY FEhi
E & FHEVA — /L 4 | e 34.36 | 1 1 0. 00 1
PEV G F2-3 4 | e 22.04 | 1 1] 1 0. 00 1
AfE | 4F | 4 A |[f=6E) 3| e 85.30 | 1 1] 1 1 2 85.30 |12
82 (Tf) (4%) 3| /Yy 64.80 | 1 1] 1 1|1 @] 1 2 64.80 |17 1
2NZE (1) 3| /Yy 16.20 | 1 1] 1 1 2 16.20 [12
SANE (%) 3| /Yy 56.14 | 1 1] 1 1 2 56.14 |12
4 NZE(TE) 3| e | 228.39 ] 1 1] 1 1 2 228.39 [12
% H HIWC (2 FT) 6| Y 8.66 | 1 /1] 1 1/1(1/1| % |1/1 2 8.66 |17 1
AHB T AT — g 1| #Hy 64. 80 1/1 1 64.80 |12
AT (B -HERGF) dem |6 [Tz 49.44 | 1 /1] 1 1/1(1/1| ¥ |1/1 2 49.44 |18
ALt B 3| By 16.31 | 1 /1] 1 2 16.31 |12
Giiab 2 6| Y 3.97 | 1 1 1| @ 2 3.97 | 8 1
WEER- Yy U —= 6 | ZAn| 20.55 | 1 1|1 1 1 0.00 | 9
b 1| e 9.77 | 1 0.00 | 8 1
JER T 4| e | 138.80 | 1 2 138.80 |12 1
AfF| 4F | 4B [fH=3%) 3| e 47.66 | 1 1] 1 1 2 47.66 |12
fH2E (Tf) (4%) 3| By 64.80 | 1 1] 1 1|1 @] 1 2 64.80 |17 1
2 NEE (3%) 3| e 53.84 | 1 1] 1 1 2 53.84 |12
SANE(2%F) 3| iy 56.14 | 1 1] 1 1 2 56.14 |12
4 N (T=E) 3| e | 228.69 | 1 1|1 1 2 228.69 |12
% B HIWC (2 FIT) 6| Y 8.66 | 1 /1) 1 1/1(1/1| @ |1/1 2 8.66 |12
F—2ARTF— g 1| e 64. 80 1/1 1 64.80 |12
SR (55 - - i 1) - Ytk 6 |=rzn| 49.44 | 1 1/1] 1 1/1(1/1] & |1/1 2 49.44 |18
N 3| e 16.31 | 1 1/1] 1 2 16.31 |12
b 6 | e 3.97 | 1 1 1| 2 3.97 |17 1
WEER- vy U —= 6 | ZAn| 20.55 |1 1|1 1 1] 1 20.55 |12
b R 1| e 9.77 | 1 1 9.77 |17 1
JEE T 4| e | 138.80 | 1 2 138.80 |17 1
4 C [HE=(6%=) 1| |y 81.00 | 1 1] 1 0.00 [12
HARE 1| #ay 32.37 | 1 1] 1 0.00 |12
iR 1| By 15.26 | 1 1|1 0.00 |12
AR 1| By 32.40 | 1 1|1 0.00 |12
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= P NN = | i 7| | Dlo|lo|lo
fi | BE | EE = £ o | M| A %/\"%”é&ﬁﬁ%éﬁ@%ﬁ m @Z;{%@o)ﬁ%fﬁ@%fﬁg
Vo E e | H & s (B R % Qﬁéfg[ﬁ%‘iﬁ%%ﬁﬁéﬁm
| 5 | 1 | X = e (B2 e B R 5
JE fit i Ik B — - |- Gy
% J&) 1| He | 277.29 | 1 1] 1 0.00 |12
WEE]1~6 1| He | 102.44 | 1 1] 1 1| 4 1 102. 44 ERITIERIC X 0 E R, SR Y
T (55 - 4 - i 1) - e 6 |Ersa| 49.44 | 1 1] 1 1|1 | @] 1 0.00 |12
B 6 | e 3.97 | 1 1 1| 1 3.97 |17 1
e (BAR=EE) (37 FT) 6 | A4 30.46 | 1 1] 1 1 1 0.00 [12
JEE 4| e | 138.80 | 1 0.00 |17 1
4D |[fE=E (228) 3| /sy 31.57 | 1 1] 1 1 2 31.57 |12
2 NZE () 3| /Yy 81.00 | 1 1] 1 1 2 81.00 |12
SANE(1FE) 3| /Yy 27.14 | 1 1] 1 1 2 27.14 |12
4 NZE (%) 3| /Yy 163.89 | 1 1] 1 1 2 163.89 [12
MR (28) 3| e 32.40 | 1 1] 1 1 2 32.40 |12
1 953 =8 (68) 3| e | 102.44 | 1 1] 1 1 2 102.44 |12
e f =2 3| /By 16.20 | 1 1] 1 1 2 16.20 [12
Jiii A<= - SU 6 | #A 5.26 | 1 1] 1 1 1] 2 5.26 |12
F—2ARTF— g 1| #Hy 64. 80 1/1 1 64.80 |12
T (5 - 2z - Bk 1) - e 6 |Ersa| 49.44 | 1 /1] 1 1/1)1/1 | & |1/1 2 49.44 |18
L& E 3| /Yy 16.20 | 1 /1] 1 2 16.20 [12
G 6 | e 3.97 | 1 1 1| i 2 3.97 |17 1
AfE | 4F | 4D |[R=EJE- vy U —= 6 | #An| 20.55 |1 1|1 1 1|1 20.55 |12
b 1| e 9.77 | 1 1 9.77 |17 1
JEE 4| e | 138.80 | 1 2 138.80 |17 1
el |V R 1| e 58.90 | 1 0. 00 EHNTFERIC X Y FE
A 1| e 26.92 | 1 0. 00 EHNTFERIC X Y FE
BTyl RE 1:2-3 1| e 96. 34 1 0.00 | 9
MHR= 1:2 1| e 19.54 | 1 0.00 | 8 1
EAT— 9 v 1| |y 28.80 | 1 0.00 | 8 1
=3 B 1| #He 11.30 | 1 1/1 1 11.30 | 8 1
R R — 1| e 20.51 | 1 0.00 | 8 1
b= 6 | = 6.85 | 1 /1] 1 1/1(1/1| % |1/1 2 6.85 | 9
REEAR— L 4 | e 82.01 | 1 1/11/1 1| 2 82.01 1
VeV e T35 1 |=rzn]| 32.54 | 1 1] 1 1 1 32.54 | 9
H LR 4| e | 266.09 | 1 1 2 266. 09 1
EVA— /L 4 | By 75.23 | 1 1|1 2 75.23 1
fi B =2 (A) 5| e 22.92 [1/1 2 22.92 |17 1
fE | 4F | 4 E [f#=(Tf) (13%) 3| e | 23114 | 1 1] 1 1|1 | @] 1 2 231.14 |12
A= (T-ift) (15) 3| e 17.49 | 1 1|1 1|1 || 1 2 17.49 |12
A (B-T-KfF) (2) 3| e 47.02 | 1 1|1 L)1 1] 1]2 47.02 |12
SSfE = (B-T-KA+F) (1) 3| iy 37.64 | 1 1] 1 1| 1 |®@| 1] 1]2 37.64 |12
2 N (TFF) (158) 3| e 22.90 | 1 1|1 1|1 || 1 2 22.90 |12
4 NZE(1F) 3| iy 34.98 | 1 1] 1 1 2 34.98 |12
ANZE (TH) (3%) 3| iy 121.05 | 1 1] 1 1)1 || 1 2 121.05 |12
e 1| iy 11.63 | 1 1] 1 2 11.63 |12
F—2ARATF— 7 1| By 82. 32 1/1 1 82.32 |12
B T7r LA 1| By 15. 23 1/1 0.00 |12
JE 1| By 12.58 | 1 0. 00 EWNIFE R IC XV Fhi
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AR IEEE R B EAEEBEE
= P NN = | i 7| | Dlo|lo|lo
B\ R | = # o | ME | i %/\"%”é&ﬁﬁ%éﬁ@%ﬁ m @Z;{%%iﬁ%fﬁ@%%g@
Vo E e | H & s (B R % §%¢§%¥%EE;HEE;H®
| 5 | 1 | X = e (B2 e B R 5
E fit & I T — - | - &
T (FRE H - R 1) 6 | e 19.33 | 1 /1] 1 1/1(1/1| @ |1/1 2 19.33 |11 1
15 6| Y 7.88 | 1 /1] 1 1/1(1/1)| % |1/1 2 7.88 |11 1
% B 18 6 | HE 2.66 | 1 /1] 1 1/1|1/1| & |1/1 2 2.66 |11 1
JHEN b A VIR 6 |ZAn| 22.00 | 1 1] 1 1] 1 1 0.00 |12
= R = 6 |ZAn| 24.66 | 1 1] 1 1] 1 1 0.00 |12
b e 1| #Be 2.73 | 1 0.00 |17 1
TIEY 1| By 2.40 | 1 1/1 1 2.40 |17 1
JES T 4| e | 242.25 | 1 2 242.25 |17 1
tE | 4F | 4 E |HfTES 4 | e 5.92 | 1 2 5.92 |17 1
bt 1| By 9.06 | 1 0. 00 EWNIFE R XV FEhi
Gl 28 6 | Y 4.97 | 1 1] 11 1 2 4.97 |17 1
3@ (PR ER T 4 | e 65.05 | 1 2 65. 05 1
EVis— /L 4 | e 37.12 | 1 2 37.12 1
R — ) — 4 | By 9.52 | 1 1/11/1 2 9. 52 1
P B =2 5| e 36.12 [1/1 0.00 |11 1
£V i T 4 | e 14.65 | 1 2 14. 65 1
fEme AF | 4G [Far—2a 3| e 30.20 | 1 1] 1] 1 1| 2 30.20 |11 1
il 2= (T-SUfT) (728) 3| /Yy 187.66 | 1 1] 1 1|1 |@|1]1]2 187.66 |12
82 (Tf1) (8%) 3| /Yy 156.64 | 1 1] 1 1|1 @] 1 2 156.64 |12
2 N2 (Tf}) (1628) 3| e | 432.90 | 1 1] 1 1|1 @] 1 2 432.90 [12
JiE T2 4| e | 188.45 | 1 1 2 188.45 |17 1
VST 4 | e 10.26 | 1 0.00 |17 1
% B WC 6| Y 3.87 | 1 1] 1 /1] 1 | % (1/1 2 3.87 |17 1
Pl = —F— 1| &4 17.58 | 1 1] 1 1| 0.00 |12
Ve xy U —=F 6 | %A 9.01 | 1 1] 1 1 1 0.00 [12
M A= - SU 6 | &A1 3.41 | 1 1] 1 1 1 0.00 |12
2By T AT — g 1| #He | 116.27 | 1 1/1 1 1 116.27 |12
1B ALER o 7 Wi =8 6| Y 10.33 | 1 1/1 1 1 10.33 |12
bl B 3| By 14.18 | 1 1/1 1 1 14.18 |12
fifi = 1| e 3.58 | 1 1 1 3.58 [12
N E 1| e 14.18 | 1 1] 1 0.00 [12
A1 1| e 4.82 | 1 1)1 0.00 |12
T A X 7WC 6 | e 4.20 | 1 1] 1 1|1 | @] 1 1 4.20 |12
JER T 1 4 | B|e 80.30 | 1 1] 1 2 80.30 |17 1
HT Ly AE 1| e 32. 62 1/1 0.00 |12
R R — 1| /e 16.34 | 1 1|1 0.00 |17 EWNTIFERIC XV FEhi
& FHEVA — /L 4 | By 28.59 | 1 1 0. 00 1
Y JEE T2 4 | |y 11.84 | 1 1 0.00 1
K| 5F | 5 A [4AN=E(T%E) 3| e | 228.39 | 1 1] 1 1 2 228.39 |12
SANE (2%) 3| iy 56.14 | 1 1] 1 1 2 56.14 |12
2 NZE (3%) 3| e 53.84 | 1 1|1 1 2 53.84 |12
== (T6) (4%8) 3| iy 64.80 | 1 1] 1 1)1 || 1 2 64.80 |12
== (358) 3| e 47.66 | 1 1|1 1 2 47.66 |12
A | 5F | 5 A |ZHMWCQ» AT 6 | e 8.66 | 1 /1] 1 1/1(1/1| % |1/1 2 8.66 |17 1
ARy T AT — g 1| By 64. 80 1/1 1 64.80 |12
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= P NN = | i 7| | Dlo|lo|lo
fi | BE | EE = £ o | M| A %/\"%”é&ﬁﬁ%éﬁ@%ﬁ m @Z;{%@o)ﬁ%fﬁ@%%g@
Vo E e | H & s (B R % Qﬁéfg[ﬁ%‘iﬁﬁéﬁﬁéﬁm
| 5 | 1 | X = e (B2 e B R 5
E fit & I T — - | - &
iy (B-A-ffy7) el [ 6 |[=asn] 4944 | 1 /1] 1 1/101/1] 3@ [1/1 2 49. 44 |18
L1 5 3| v 16.31 | 1 /1] 1 2 16.31 |12
G 6| e 3.97 | 1 1 1| 2 3.97 |11 1
WEJER- vy U —= 6 |ZA4n| 20.55]| 1 1] 1 1 1 0.00 |12
b e 1| #Bre 9.77 | 1 0.00 |11 1
JEE 4| e | 138.80 | 1 2 138.80 |17 1
5B [{#==E (3%) 3| /sy 47.66 | 1 1] 1 1 2 47.66 |12
8= (Tf) (4%) 3| /Yy 64.80 | 1 1] 1 1|1 @1 2 64.80 |12
2 NZE (3%) 3| /Yy 53.84 | 1 1] 1 1 2 53.84 |12
SANE(2F) 3| /Yy 56.14 | 1 1] 1 1 2 56.14 |12
4 NZE(TFE) 3| e | 228.69 | 1 1] 1 1 2 228.69 [12
% H HIWC (2 FT) 6| Y 8.66 | 1 /1] 1 1/11/1| # (1/1 2 8.66 |17 1
F—2A AT — g 1| e 64. 80 1/1 1 64.80 |12
T (5 - 2z - Hikg 1) - Y 6 [Erzn] 49.44 | 1 /1] 1 1/1(1/1 | & [1/1 2 49,44 (18
L& E 3| /Yy 16.31 | 1 /1] 1 2 16.31 |12
Giiab 2 6| Y 3.97 | 1 1 1| v 1 3.97 |17 1
WEER - vy U —= 6 | #An| 20.55 |1 1] 1 1 1 0.00 |12
b 1| e 11.45 | 1 0.00 |17 1
JEE 4| e | 138.80 | 1 2 138.80 |17 1
5C |E/ 1| e | 456.23 | 1 1] 1 0.00 |12
T L RE 1| e 32.40 | 1 1|1 1 0.00 |12
b 1| e 16.20 | 1 1] 1 0.00 [12
TACER 1| By 66.69 | 1 1] 1 0.00 |12
VAR 1| e 18.82 | 1 1] 1 1 0.00 |12
T (55 - 2z - Bk 1) - Ve 6| Hr 30.32 | 1 1] 1 1] 1|3 1 0.00 |11 1
Giiab 2 6| tHe 3.97 | 1 1 1 1| @ 0.00 |11 1
JEE T 4| B 138. 80 1 0.00 3
5D |RT T 4T IL—2N 1| Ee 34.29 | 1 1] 1 1 0.00 |12
HEWHEL 1| ®Hr 32. 40 1 0.00 [12
BERABRE Y 7 — 1| e 64. 80 1 0.00 |12
LR (TRER) 1| e 48. 60 0.00 |12 USRI, FERIC 0 T & J
WK # 1] e 83.62 0.00 |11 1 e e
A 1| e 32. 40 1 0.00 [12
AfE | 5F | 5D [ 77 LR 1| #Hre 32.40 | 1 1|1 0.00 [12
DiEE 1| e | 212.39 | 1 1|1 0.00 |11 1
SR (55 - - i 1) - Ytk 6 |Ers| 49.44 | 1 1|1 1|1 || 1 0.00 [12
b 6 | e 3.97 | 1 1 1| 0.00 |11 1
WEER vy U —= 6 | ZAn| 20.55 |1 1|1 1 1 0.00 [12
b R 1| e 9.77 | 1 0.00 |11 1
JEE T 4 | e 138.80 | 1 0.00 |11 1
AP 1D 1| |y 58.90 | 1 0. 00 EITFERIZ L Y Ehi
A 1| e 26.92 | 1 0. 00 EMNTHERIC X E
H Ty L AE 1.2 1| By 63. 80 1 0.00 | 9
M= 1:2 1| By 19.54 | 1 0.00 | 8 1
WERT— g v 2 | e 28.80 | 1 0.00 | 8 1
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AR IEEE R B EAEEBEE
= P NN = | i 7| | Dlo|lo|lo
B\ R | = # o | ME | i %/\"%”é&ﬁﬁ%éﬁ@%ﬁ m @Z;{%%iﬁ%fﬁ@%%g@
Vo E e | H & s (B R % Qﬁéfg[ﬁ%‘iﬁ%%ﬁﬁéﬁm
| 5 | 1 | X = e (B2 e B R 5
E il & I T — - | - &
TIEY 1| By 11.30 | 1 1/1 1 11.30 | 8 1
ANV 1| By 20.51 | 1 0.00 | 8 1
i 6 | =D 6.85 | 1 /1] 1 1/1(1/1)| % |1/1 2 6.85 | 9 1
REER— L 4| B\ 82.01 | 1 1/11/1 1| i 2 82.01 1 1
VeV T 55 1 {=rzn] 32.54 | 1 1] 1 1 0.00 | 9
b e 1| By 32.54 | 1 0. 00 EWNIFE R XV FEhi
WL T 4| e | 266.09 | 1 1 1 266. 09 1
EVAs— /L 4 | e 75.23 | 1 1] 1 2 75. 23 1
PREEEEE () 5 | /e 22.92 |1/1 2 22.92 |17 1
e | 5F | 5E |[fl= (Tf) (10=%) 3| e | 174.90 | 1 /1] 1 1|1 |@]| 1 2 174.90 |12
S =E (Tf) (52) 3| /Yy 101.19 | 1 /1] 1 1|1 @1 2 101.19 |12
SSfE=E (BT K- B2 A) (1) 3| /sy 37.64 | 1 /1] 1 1|1 ]@|1]1]2 37.64 |12
SSEZE (B-T-K{) (428) 3| /By 114.08 | 1 /1] 1 1|1 ]@|1]1]2 114.08 |12
W= 6 |ZA4n] 12.99 | 1 /1] 1 1|1 @11 0.00 |12
F e 3 & 24. 38 111 0. 00
F—2ARTF— g 1| e 57.57 1/1 1 57.57 |12
BT F LA 1| e 13.26 1/1 1 13.26 |12
Vel vl = 6| e 9.47 | 1 1] 1 1 0.00 |11 1
15 6| Y 7.88 | 1 1 1 7.88 |11
Wk EL 5 AT 6 | HE 2.66 | 1 1 1|1 || 1 2 2.66 |11 1
A 1| e 5.19 | 1 0. 00 EHNTFERIC X Y FE
ST GBE A - kR F) 6 | Hir 6.59 | 1 1/1 1/1(1/1] @& |1/1 2 6.59 |11 1
= E Y 1| By 4.97 | 1 1/1 2 4.97 |11 1
| 5F | 5E |¥A4 =7 3| By 17.92 | 1 L(1/1) 1] 1] 1| 2 17.92 |11 1
DRV 3| By 88.87 | 1 1 ]1/1 1| i 2 88.87 |11 1
b 1| ®Hr 2.52 | 1 0. 00 EWNTHERIC X Eh
TH] 78 28 1| |y 10.43 | 1 1] 1 2 10.43 |11 1
=G i 1| e 4.07 | 1 0. 00 EMIFFERIZ LY Ehi
FrERIB 6 |ZAn| 20.59 | 1 1 1 1] 1] 2 20.59 |12
JEE T 4 [m—~vr| 185.55 1 2 185. 55 9
A - T 4 [p—o 1 3.28 1 2 3.28 9
@ PR T 4 | B|e 65.05 | 1 2 65. 05 1
EVA— /L 4 | By 37.12 | 1 2 37.12 1
P B =2 5| e 36.12 [1/1 0.00 |11 1
&Y ST 4 | Hye 14.65 | 1 2 14. 65 1
s 5F | 5G [FA11r—24 3| e 30.20 | 1 1] 1] 1 1| i 2 30.20 |11 1
2 NZE (TF) (1728) 3| e | 458.31 | 1 1] 1 1] 1 || 1 2 458.31 (12
2= (T-SUfT) (628) 3| iy 160.34 | 1 1] 1 1| 1 |®@| 1] 1]2 160.34 |12
== (Tf) (8%) 3| e | 156.64 | 1 1|1 1|1 || 1 2 156.64 |12
Ji T2 4 | e | 188.45 | 1 2 188.45 |17 1
ED T 4 | e 10.26 | 1 2 10.26 |17 1
% H IWC 6 | it 3.87 | 1 1 /1) 1 | 8 |1/1 2 3.87 |11 1
Vel =2 — 7 — 1{#41] 17.58 | 1 1] 1 1 2 17.58 |12
P v v U—= 6 | #A 9.01 | 1 1] 1 1 1 0.00 |12
it A< == - SU 6 | &A1 3.41 | 1 1] 1 1 1 0.00 |12
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= P NN = | i 7| | Dlo|lo|lo
fi | BE | EE = £ o | M| A %/\"%”é&ﬁﬁ%éﬁ@%ﬁ m @Z;{%@o)ﬁ%fﬁ@%fﬁg
Vo E e | H & s (B R % Qﬁéfgﬁﬁ%?ﬁﬁé?ﬁﬁéhﬁm
| 5 | 1 | X = e (B2 e B R 5
JE fit i Ik B — - |- Gy
AHB T AT —3 g 1| e | 116.27 1/1 1 116.27 |12
15 ALER o 7 Wi == 3| e 10.33 | 1 1/1 1 1 10.33 |12
L1 5 3| e 14.18 | 1 1/1 1 1 14.18 |12
fifi = 1| By 3.58 | 1 1 1 3.58 |12
FHFRER1-2 1| #Bre 14.18 | 1 1 0.00 [12
BEL 1| e 4.82 | 1 0.00 |12
Fe- AH v 7WC 6| Hr 4.20 | 1 1 1] 1|1 2 4.20 |12
JEE 1 4| Hy 80.30 | 1 2 80.30 |17 1
Ble= 3| /Yy 16.45 | 1 1] 1 1 2 16.45 [12
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